57

PISCO.

Quick-fitting Joint Made of Stainless Steel

Tube Fitting Stainless SUS316 Series

WAIl the parts except the sealing part are made of SU316,
which is highly resistant to corrosion. The seal is fluoric
rubber that displays great chemical resistance. The parts
are all of oil-free specification and in compliance with the
Food Sanitation Act, so that this series can be used with
food processing, chemicals, madical care, semiconductor
manufacture, etc.

Air ,water,others 1
. i b b 2
Positive Pressure 0~145psi FIUi|d0 1MPa(0~10.2kgf/cm?)
0~43.5psi 0~0.3MPa(0~3.06kgf/cm?) % 2
Negative Pressure -29.5mmHg (-750mmHg)10Torr
Service temperature range 5~248F -15~120°C

% 1. Depending on use with chemicals or gas mixtures, there
may be causes damage in which our specifications are not
suitable. Be sure to confirm the specification compatibility
before using our joint.

X2. Insert rings are recommended for use with fluids.

Cover(SUS316)

Metallic body(SUS316)

Collet(SUS316)

Tube
Plate(SUS316)

Seal packing(fluoric rubber)

O-ring(fluoric rubbe)
Screw thread body(SUS316)

C-ring(SUS316)

EHE AN
O (6] ©l KOG
®Type

@Tube Dia.(¢D)

Code 4 6 8 10 12 16
Dia. o4mm | $6mm | ¢8mm [d10mm | p12mm| P 16mm

®Thread size(R)

Metric thread Taper pipe thread
Code M5 01 02 03 04
Size M5X0.8| R1/8 R1/4 R3/8 R1/2
@Specification

X:KRAYTOX® Specification(Non-splash grease coating is
applied to seal packing(Fluoric rubber)
No entry: Oil-free specification(Conventional product)

Before using the PISCO device, be sure to read the
“Safety Instructions”,“Common Safety Instructions for
Products Listed in This Manual”on page 3 and “Common
Safety Instructions for Quick-Fitting Joint”on pages 4.

/N\Warning

1.When the fluid admitted is a chemical, be sure to contact
PISCO for guidance. Depending on usage, damage may be
caused to the joint body, the tube may come off or leakage
may result.

2.When the fluid admitted is a liquid, use an insert ring.
Without the use of an insert ring, the tube may come off or
leakage may occur.

3.After connecting the tube, be sure to pull the tube toward
you and make certain that it does not come off. If the tube
comes off, pull the collet once(see table below), connect
the tube again and check for proper connection by pulling it
again.

/\ Caution

1.Note that the taper pipe is not Sealock-treated. When you
use seal or sealant on the thread, apply the tape or sealant
about 1.5 or 2 thread ridges away from the thread end.



PISCO.

®

Straight @
(Fa)
=
Unit : inch
e, B _ c ] . i i a

Model wg?n% R A TN [wax T un Tvax | ®F Tun [max | © HHE 1X HIE; o %&ﬁ e | v
SSCaM5 | 4 |M5x0.8 016 | 0.95 | 096 | 077 | 0.81 | 039 | 067 | 0.71 | 022 | 0.39 | 0.08 | 0.21 | 200 | 3.00] 0.16
SsC401 | 4 | Ri/8 | 0.31 | 1.04 | 1.06 | 087 | 0.91 | 0.39 | 0.67 | 0.71 | 0.16 | 0.39 | 0.12 | 0.28 | 3.00 | 5.00| 0.27
SSC6Ms | 6 |M5x08 0.16 | 098 | 104 | 0.81 | 0.87 | 047 | 071 | 0.77 | 026 | 047 | 0.08 | 0.28 | 210 | 3.00] 0.16
SSC601 | 6 | Ri1/8 | 031 | 1.04 | 110 | 087 | 0.92 | 0.47 | 0.71 | 0.77 | 0.16 | 0.47 | 0.16 | 0.33 | 4.20 | 13.50 | 0.73
SSC602 | 6 | RI/A | 043 | 1.24 | 130 | 091 | 0.96 | 0.47 | 0.71 | 0.77 | 0.24 | 055 | 0.16 | 0.65 | 4.20 | 13.80 | 0.75
ssceol | 8 | Ri/8 | 031 | 1.16 | 1.22 | 1.00 | 1.06 | 0.55 | 0.81 | 0.87 | 0.20 | 055 | 0.20 | 0.44 | 5.30 | 20.50 | 1.11
SSC802 | 8 | Ri/4 | 043 | 128 | 134 | 1.04 | 1.10 | 055 | 0.81 | 0.87 | 020 | 055 | 0.24 | 0.60 | 6.30 | 26.80 | 1.45
SSC1002| 10 | Ri/4 | 043 | 1.40 | 146 | 1.14 | 122 | 0.67 | 0.92 | 0.98 | 0.24 | 067 | 0.24 | 0.77 | 6.30 | 27.50 | 1.49
SSC10-03| 10 | R3/8 | 047 | 1.44 | 150 | 1.18 | 124 | 067 | 092 | 0.98 | 024 | 067 | 024 | 1.06 | 6.30 | 28.50 | 1.54
SSC12:03] 12 | R3/8 | 0.47 | 1.50 | 1.57 | 1.22 | 1.30 | 0.79 | 0.98 | 1.06 | 0.24 | 0.83 | 0.31 | 1.28 | 8.50 | 45.50 | 2.47
SSC12:04] 12 | Ri/2 | 059 | 1.61 | 1.69 | 1.26 | 136 | 0.79 | 0.98 | 1.06 | 0.24 | 0.87 | 031 | 1.87 | 850 | 651.80 | 2.81
SSC16-04] 16 | R1/2 | 059 | 1.93 | 2.01 | 1657 | 167 | 0.92 | 1.20 | 1.30 | 0.35 | 0.94 | 0.47 | 2.06 | 12.60 | 79.80 | 4.33

Elbow
Unit : inch
Tube dia. C E HEX. Weight ifi .a.

Model 1opmm| R A 8 Lol ®P TN [ wAax | MiN [ wax | H e | "R v | mme | <V
SSLaMs | 4 |Msx0.8| 0.16 | 069 | 077 | 0.39 | 067 | 0.71 | 085 | 0.89 | 039 | 030 | 040 | 200 | 3.00]| 0.16
SSL 401 4 | Ri/g | 031 | 079 | 083 | 039 | 067 | 071 | 085 | 0.89 | 039 | 0.24 | 049 | 3.00 | 380 | 0.21
SSL6M5 | 6 |M5x08| 0.16 | 077 | 089 | 0.47 | 071 | 0.77 | 092 | 098 | 047 | 033 | 062 | 200 | 300]| 0.16
SSL6-01 6 | Rri/8 | 031 | 083 | 091 | 047 | 0.71 | 077 | 092 | 0.98 | 047 | 024 | 065 | 460 | 11.80 | 0.64
SSL6-02 6 | RI/4 | 043 | 094 | 094 | 047 | 071 | 077 | 0.92 | 0.98 | 055 | 0.24 | 092 | 460 | 10.00 | 0.54
SSL 801 8 | Ri/8 | 0.31 | 091 | 1.02 | 055 | 081 | 0.87 | 1.02 | 1.08 | 065 | 0.28 | 0.88 | 6.00 | 21.00 | 1.14
SSL8-02 8 | Ri/a | 043 | 102 | 1.06 | 055 | 081 | 0.87 | 1.02 | 1.08 | 055 | 0.28 | 1.07 | 6.00 | 2060 | 1.11
SSL1002 | 10 | Ri/4 | 0.43 | 1.14 | 124 | 067 | 092 | 098 | 1.14 | 122 | 067 | 0.31 | 143 | 800 | 28.00 | 1.52
SSL1003 | 10 | R3/8 | 0.47 | 1.18 | 126 | 067 | 092 | 098 | 1.14 | 122 | 067 | 031 | 167 | 800 | 28.00 | 152
ssL1203 | 12 | R3/8 | 0.47 | 1.34 | 1.48 | 0.79 | 098 | 1.06 | 0.77 | 0.85 | 0.83 | 039 | 2.41 | 10.00 | 52.00 | 2.82
ssL1204 | 12 | Ri/2 | 059 | 146 | 154 | 0.79 | 098 | 1.06 | 0.77 | 0.85 | 0.87 | 039 | 3.03 | 10.00 | 49.50 | 2.68
SSL1604 | 16 | Ri/2 | 069 | 1.57 | 1.71 | 092 | 1.20 | 1.30 | 0.96 | 1.06 | 0.94 | 035 | 3.75 | 13.00 | 68.80 | 3.73

2-E
2-C
Tee ui ] | | I ah,
= T - jY
@ H o 3k
< A '&
' R Unit : inch
Tube dia. C E HEX. Weight rifice | Eff.a.

Model Topmm| R A 8 - P TWIN | MAX | MIN | MAX | H € ©2) ?DMM mm2 | Y
SSB4Ms | 4 |M5x0.8| 0.16 | 069 | 077 | 0.39 | 067 | 0.71 | 085 | 0.89 | 039 | 030 | 058 | 2.00 | 3.00| 0.16
SSB 401 4 | Ris | 031 | 079 | 0.83 | 039 | 067 | 0.71 | 085 | 0.89 | 039 | 024 | 067 | 3.00 | 350 | 019
SSB6MS | 6 |M5x08| 0.16 | 077 | 089 | 0.47 | 071 | 0.77 | 092 | 098 | 047 | 033 | 086 | 2.00 | 3.00| 016
SSB 6-01 6 | Ri/8 | 0.31 | 083 | 0.91 | 047 | 0.71 | 0.77 | 092 | 0.98 | 0.47 | 0.24 | 0.0 | 460 | 1050 | 0.57
SSB 6-02 6 | R1/4 | 043 | 094 | 094 | 047 | 071 | 077 | 092 | 098 | 047 | 024 | 116 | 460 | 1050 | 057
SSB 801 8 | Ri/8 | 031 | 091 | 1.02 | 055 | 081 | 0.87 | 1.02 | 1.08 | 065 | 0.8 | 1.18 | 6.00 | 20.00 | 1.08
SSB 8-02 8 | Ri/a | 043 | 102 | 1.06 | 055 | 081 | 0.87 | 1.02 | 1.08 | 055 | 0.28 | 1.36 | 6.00 | 20.00 | 1.08
SSB1002 | 10 | Ri/4 | 0.43 | 1.14 | 124 | 067 | 092 | 098 | 1.14 | 122 | 067 | 031 | 1.85 | 800 | 27.00 | 1.46
SSB1003 | 10 | R3/8 | 0.47 | 1.18 | 126 | 067 | 092 | 098 | 1.14 | 122 | 067 | 031 | 211 | 800 | 27.00 | 1.46
SSB12.03 | 12 | R3/8 | 0.47 | 1.34 | 1.48 | 0.79 | 098 | 1.06 | 0.77 | 0.85 | 0.83 | 039 | 3.19 | 10.00 | 51.00 | 2.76
SSB 1204 | 12 | Ri/2 | 059 | 146 | 154 | 0.79 | 098 | 1.06 | 0.77 | 0.85 | 0.87 | 039 | 3.80 | 10.00 | 52.00 | 2.82
SSB16:04 | 16 | R1/2 | 069 | 150 | 163 | 092 | 120 | 1.30 | 0.96 | 1.06 | 0.94 | 035 | 5.02 | 13.00 | 71.00 | 3.85

58



59

PISCO.

B
2-A E 2-G o)
. 1] o
Bulkhead Union ala
2-H’
M 2-C Unit : inch
Tube dia. A B © E. HEX. | Weight | Orifice | Eff.a.
Model M oP G
$D(mm) MIN. | MAX. [ MIN. | MAX. MIN. [ MAX. | MAX. H ©2) | oMM | mm2 cv
SSM 4 4 12X1 | 0.61 0.65 1.69 | 1.77 | 039 | 0.67 | 0.71 0.16 | 0.16 | 0.55 0.65 3.00 450 | 0.24
SSM 6 6 14%x1 | 0.61 0.67 1.77 | 1.89 | 047 | 0.71 077 | 024 | 0.16 | 0.67 0.97 460 | 10.80 | 0.59
SSM 8 8 16X1 | 0.71 0.77 1.95 | 2.07 | 055 | 0.81 0.87 | 024 | 0.16 | 0.75 1.25 6.50 | 25.50 | 1.38
SSM 10 10 | 20%x1 | 077 | 085 | 218 | 2.32 | 067 | 092 | 098 | 024 | 020 | 094 2.11 8.50 | 34.80 | 1.89
SSM 12 12 22x1 | 0.83 | 0.91 236 | 252 | 079 | 0.98 | 1.06 | 024 | 0.24 1.06 3.03 | 10.00 | 48.50 | 2.63
SSM 16 16 |27x1.5]| 1.02 | 112 | 276 | 293 | 092 | 120 | 1.30 | 0.22 | 0.24 1.26 410 | 14.00 | 85.50 | 4.63
Union Straight o
L 1o
Sml
[a)
<
& Unit : inch
Tube dia. C E Weight Orifice Eff.a.

Model $D(mm) MIN. MAX. MIN. MAX. oP ©02) OMM mm2 v
SsSuU 4 4 0.67 0.71 0.69 0.73 0.39 0.30 2.50 4.50 0.24
SSU 6 6 0.71 0.77 0.73 0.79 0.47 0.42 4.60 10.80 0.59
SsuU 8 8 0.81 0.87 0.83 0.89 0.55 0.56 6.00 26.00 1.41
SSU 10 10 0.92 0.98 0.96 1.04 0.67 0.88 8.50 34.50 1.87
SSuU 12 12 0.98 1.06 1.02 1.10 0.79 1.34 10.00 49.50 2.68
SSU 16 16 1.20 1.30 1.24 1.34 0.92 1.95 14.00 86.00 4.66

2-E
2-F 2-C
! HL _
T -l
Union Elbow _ o
od = <
i NI ‘
‘ ;
[ E
Unit : inch
Tube dia. C E Weight Orifice Eff.a.

Model $D(mm) ©P MIN. MAX. MIN. MAX. F d (02) dMM mm2 cv
SSV 4 4 0.39 0.67 0.71 0.91 0.94 0.16 0.13 0.44 2.50 3.50 0.09
SSV 6 6 0.47 0.71 0.77 1.00 1.06 0.20 0.13 0.69 4.60 9.50 0.51
Ssv 8 8 0.55 0.81 0.87 1.16 1.22 0.24 0.17 1.00 6.00 20.80 1.13
SSV 10 10 0.67 0.92 0.98 1.30 1.38 0.28 0.17 1.43 8.00 29.50 1.60
SSV 12 12 0.79 0.98 1.06 1.40 1.48 0.31 0.17 2.02 10.00 48.00 2.60
SSV 16 16 0.92 1.20 1.30 1.69 1.79 0.37 0.17 3.20 13.00 69.50 3.77

Union Tee
Unit : inch
Tube dia. c E Weight Orifice Eff.a.

Model $D(mm) ©P MIN. MAX. MIN. MAX. F d (©2) dMM mm2 cv
SSE 4 4 0.39 0.67 0.71 0.91 0.94 0.16 0.13 0.63 2.50 3.50 0.19
SSE 6 6 0.47 0.71 0.77 1.00 1.06 0.20 0.13 0.97 4.60 9.80 0.53
SSE 8 8 0.55 0.81 0.87 1.16 1.22 0.24 0.17 1.37 6.00 20.00 1.08
SSE 10 10 0.67 0.92 0.98 1.30 1.38 0.28 0.17 2.01 8.00 28.80 1.56
SSE 12 12 0.79 0.98 1.06 1.40 1.48 0.31 0.17 2.78 10.00 50.00 2.71
SSE 16 16 0.92 1.20 1.30 1.69 1.79 0.37 0.17 4.36 13.00 74.00 4.01




E Different Diam B
Sus3 Union Straight C2 C1
~F =T =
o - _ | oo
< ? =1 |-"H = <
a a
= < Unit : inch
Tube dia.|Tube dia. C1 Cc2 Weight rifi Eff.a.

Model | o mm|eD2eml T max ] 7! | P2 Fan [ wae N | wax | ©2 %Mﬁ/? mm2 e
SSG 6-4 6 4 142 | 152 | 047 | 039 | 071 | 077 | 067 | 0.71 037 | 4.90 400 | 022
SSC 86 8 6 154 | 165 | 055 | 047 | 081 | 087 | 071 | 077 | 051 | 1660 | 1050 | 057
SSG 10-8 10 8 177 | 189 | 067 | 055 | 092 | 098 | 081 | 087 100 | 2830 | 2300 | 1.25
SsG1210| 12 10 191 | 205 | 079 | 067 | 098 | 1.06 | 092 | 098 | 200 | 56.70 | 29.50 | 1.60
SsGi16-12| 16 12 2020 | 240 | 092 | 079 | 120 | 1.30 | 098 | 106 | 276 | 7850 | 42.00 | 2.8

B
SSY ‘ F 3-C g n@.
SuS316 Union Y Tﬁ{% il
ﬁ{ = ) j
i
¢d Unit : inch
' B C = ; —

Model leil Bammy N, | wax ] 7 [Twin | wax . ®d TN T vAX ' %;:\f/lli/(le e | oV

Ssv 4 4 150 | 157 | 039 | 067 | 0.71 043 | 013 | 067 | 0.71 053 500 | 300 ]| 016

Ssv 6 6 161 | 173 | 047 | 071 | 077 | 051 | 013 | 067 | 073 | 083 | 12.40 | 850 | 046

Ssv 8 8 189 | 2.01 055 | 081 | 087 | 059 | 013 | 077 | 083 120 | 3420 | 19.00 | 1.03

SSY 10 10 216 | 228 | 067 | 092 | 098 | 071 | 017 | 085 | 092 181 | 39.00 | 2480 | 1.34

SSY 12 12 236 | 252 | 079 | 098 | 1.06 | 083 | 017 | 091 | 094 | 278 | 6660 | 3850 | 2.09

Ssv 16 16 291 | 31 092 | 120 | 130 | 098 | 017 | 1.10 | 1.0 | 426 | 117.00 | 53.00 | 2.87

60



